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Test 1 Passage 1

B4F. IL%E: be encased = surrounds (& 2 &)

SR, BFF: splits into = breaks open (2 f1)

R 5/n5). AL trading corporation = commercial operation = company (5 6 &)
¥=#l. F5: dominance of = took control of = had a monopoly over (£ 7 &)

SEAT. B held the cure = effective against (55 9 &)

BR. £ concentrated into = restricted to (& 10 §1)

Fhil. 44 be grown = being cultivated (& 10 8)

ER. f13E: smuggled = be secretly taken to (5 12 #)

JHIR . B K wiped out = were destroyed by (5 13 /)
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Test 1 Passage 2

{&Z%: park = notinuse (& 14 @)

72 IR E¥E: overcome a number of problems = be conquered (£ 17 &)
18i%. 12 schemes = initiatives (& 20 57)

H 13 double = twice (Z 22 &)

A% 4 are no longer essential = become redundant (58 25, 26 &)
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Test 1 Passage 3

1. BWUTEIRM: questing nature = an intrinsic element of being human (£ 27 &)

2. ABAEZ IR to investigate people's emotional states = to suggest the desires

and fears of his characters  (Z§ 29 @)

3. T RNBECHRIUE: tends to reflect the field of endeavour of each pioneer = relate

exploration to their own professional interests (55 31 &%)

4. A% many of us = general public (£ 31 &)

5. {EAMAEIA: form of transport used = by camel when | could have gone by car be
(58 337)

6. iF%: agreat many = alarge number of % (% 38 &)
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Passage 1
1. objective ---- aim Bfr (5 3 &)
2. unforeseen ---- unexpected/unpredictable RTJFNAY (55 4 /K)

3. psychological difficulty ---- psychological barrier 1IE[E#S (5 10 1)
4. separate ---- divide 27F (5 12 &)

5. make it difficult ---- decrease opportunities {FEREXE / BE{EAFLIE (5 13 &)

Passage 2

=

disappearance ---- extinction £¥38% / K4 (5 14 &)
2. reproducing ---- cloning &l / =& (5 15 M)
3. become extinct --- come to an end K4 / 44 (5 17 5)

4. identify ---- pinpoint i2% (% 18 #)

5. minimise ---- reduce > (5 19 &)
6. decrease ---- mitigate &> (5 22 &)
7. concentrate on ---- focus on &3E (& 24 5)

8. insufficient ---- not enough NE (5 26 #&)



Passage 3

1. ina group setting ---- in a social situation XS (F 28 A)
2. similar ---- consistent 1889 / —ZH (5 29 &)

3. exchange roles ---- take a turn ##AE / % (E30:A)

4. amusing ---- humourous H4ERAY (% 33 &)

5. boring ---- tedious ZBRAY (5 34 &)

6. reduce anxiety ---- relieve stress ZEf#+x/1 (5 35 &)

7. stimulating ---- energising #¥xREE AL (5 36 &)
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Test 3 Passage 1

<P, BRAM: complies with=to stand by (5 1 &)

. #E1EAr. ZJKk: be appointed=be assigned (% 2 /)

. ZI. K55 discover=become aware of (5 4 &)

&K, il became fascinated with=attracted a lot of interest (5 5 &)
. BHEL. W F T {E: resign from=give up the position (%5 6 &)

. fR . K315 a shortage of=are not readily available (%5 8 &%)

. BE. E%mE: sketches=a type of simple drawing (% 10 £%)

. 5{R%E . #ER: offered a commission=be employed (% 11 &)

9. {F8EH%. {FH oRE: enable=make it possible (Z5 13 &)
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Test 3 Passage 2

1. & ¥IA9785%: basic idea = initial inspiration (% 14 #)

2. KN[Ekj&: different places = a range of sources (28 15 &%)
3. £5% % finance = raise...in funding (5 20 &)



4. 47K distilled water = purified water (5 24 £)
5. &5 & require...= provide... when necessary (%5 26 &)

Test 3 Passage 3

1. useful lessons for life = reason for their survival (% 28 i)
2. IES{k3E various theories = factual basis (£ 29 1)

3. &4 cautionary messages = warning (28 35 &)

4. REZEH: trivial = unimportant (£ 35 &)

5. O] 1HAY: gruesome = scary (5 40 f)

6. ~<#H{=: be unconvinced by = don't believe (5 40 &)

Reading passage 1

1.k Blaccess=suck up (5 1 /)

2.EEMY: be key to = a crucial part of (5 2 f)
3.JBfE A R:inhabitant= people (5 2 &)

433%A9: a long time ago = ancient (58 2 &%)

5.4 1F: survive = withstand (8 3 &)

6.24/: medicine = remedy (5 7 &)

7.8 1% construction=build houses (5 8 &)

8. — MR AKX IH:a very large area=this huge expanse (5 12 &)

Reading passage 2

1.2 3]:learn=be taught (Z 19 &)

2% . BZ: adjust = change (5 22 &)

38X, BE: everyday = daily life (% 23 #)

450, BERY: brief = short (& 23 &)

5.1R3%E B quickly = rapid (5 24 &)

6. ARy essential= vital (& 24 &)

7.3 # relay= communication (28 24 &)

8. ... i under threat = be threatened with (55 25 &)

Reading passage 3

1.4, =40 regulation = control (& 28 )

233 E s overfishing = an unmanaged fishery without quotas (%8 30 &)
3.3F89:good=sound (%5 35 &%)

4. 52 be prepared to = accept the necessity for (Z8 35 &)

5.J8 &/ N: moral standards = moral principles (2§ 36 &)



